BEERERERSRE=SILT Ay T GHERAT) BR

FET REETAIT L TG BERMARERS
No.| #2722 | sharst A mapa | MEE ) EE f# =
1] 1-1 FER |[RRETERER () 12A2H 0.35
2| 1-2 FET  |[RRETERER(2) 12A2H 0.22
3| 1-3 FET  |[RRETERER(3) 12A2H 0.44
4| 1-4 FET  |[RRETERER(4) 12A2H 0.26
5| 1-5 FET  |[RRETERER(5) 12A2H 0.50
6 | 1-7 FETR  |[RRETERER(6) 12A2H 0.32
7| 1-8 FER  |[RRETERER(T) 12A2H 0.22
8| 1-9 FETm  |[fRIRETERER(8) 12A2H 0.23
9 | 1-10 FEm |[RRETERER(9) 12A2H 0.29
10| 2-1 FET  |[RRETERECO0) 12A3H 0.57
1| 2-2 FEm  |[RRETEREAO1) 12A3H 0.44
12| 2-5 FET  |[RRETERE(O2) 12A2H 0.45
13| 2-8 FET  |[RRETEREAO3) 12A3H 0.43
14 2-9 FETm  |(RRETERECO4) 12A2H 0.23
15| 2-10 FEm  |[RRETEREOS) 12A2H 0.35
16 | 3-2 FET  |[RRETERECO6) 12A3H 0.63
17| 3-5 FET  |(RRETERECO7) 12A2H 0.48
18| 3-8 FEm  |[RRETERECO8) 12A3H 0.40
19 3-9 FET  |(RRETERECO9) 12A3H 0.39
20 | 3-10 FET  |[RIRETERE(20) 12A38 0.40
21| 4-6 FET  |[RRETERE(21) 12A2H 0.50
22| 47 FEm  |[RRETERE(22) 12A3H 0.48
23| 4-8 FEm  |[RRETERE(23) 12A3H 0.54
24 | 5-6 FET  |[RIRETERE(24) 12A2H 0.36
25 | 5-7 FE®  |[RRETERE(25) 12A3H 0.68
26 | 6-5 FEm  |[RIRETAMW() 12A2H 0.52
27| 6-6 FET  |RIRETERE(26) 12A2H 0.47
28 | 6-7 FET  |[RRETERE(27) 12A3H 0.80
29 | 6-8 FET  |RIRET ERF(28) 12A3H 0.36
30| 6-9 FET  |[RIRETERE(29) 12A3H 0.59
31| 7-4 FEm  |[RIRETA(2) 12A2H 0.33
32| 7-6 FET  |[RRETERE(30) 12A2H 0.62
33| 7-8 FET  |[RIRETERE(31) 12A3H 0.55
34| 83 FEm  |[RIRETAM(3) 12A2H 0.43
35| 86 FET  |[RIRETAH(4) 12A2H 0.37
36 | 88 FET  |[RIRETAH(S) 12A3H 0.52
37| 91 FET  |[RRETERE(32) 12A2H 0.41
38| 9-2 FET  |[RIRETERE(33) 12A2H 0.18
39| 9-3 FET  |[RIRETAH(6) 12A2H 0.34
40 | 9-7 FEm  |[RIRETAM(7) 12A2H 0.44
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41| 9-8 FEm  |[RIRETAHI(8) 12A2H 0.35

42| 9-9 FEm  |[RIRETAHI(9) 12A2H 0.41

43 | 10-4 FEN |[REETSHRE() 12A2H 0.67

44 | 10-5 FEN |[RETSHRE(2) 12A2H 0.69

45 | 10-6 FEN |[RETSHRE(3) 12A2H 0.65

46 | 10-7 FEm  |[RIRETA#I(10) 12A2H 0.48

47| 10-9 FEm |[RIRETA#I(11) 12A2H 0.34

48 | 10-10 FEm  |[RIRETA#I(12) 12A2H 0.42




